
Lecture 2 :

• Estimate MST weight

• Estimate average degree
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Approximate Min Spanning Tree (MST)
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A different characterization of MST :
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Eli! { hill war C- Elvis}
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Eli's { kill Wu, c- Elvis}
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Eli's { 1441 war C- Elvis}
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Which edges are on MST ?

What if w is big ?



Estimating. the average degree of
a graph
-

def Average degree d-=¥d
h

Assume : G simple ( no parallel edges, self- loops)

Icn) edges (not
" ultra - sparse
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Representation via adj list + degrees :

• degree queries : on v return dlv )

• neighbor queries : on lyj
) return jth
nbr of V



Naive sampling :

Pick Ol ? ?) sample nodes vi. Vs

output are degree of sample :
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lower bound ?
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Some lower bounds :
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Algorithm idea :

group
nodes of similar degrees

estimate average wlin each
group

why does this help ?

recall Chernoff :
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First idea for algorithm :

• Take samples of nodes
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